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Match #6


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
It includes the earnest money paid when making an offer on a home. If it is below 20% of the purchase price of a primary residence, private insurance is required by most banks before they will make a loan. What amount is the difference between the price of the home and the mortgage amount, and is paid at closing? 


ANSWER: down payment

2.
It occurs at the dew point and happens due to cooling and/or compression.  Machines that perform this process are found in heat exchangers.  Name this phase transition that is the opposite of boiling and evaporation in which a substance goes from a gas to a solid.

ANSWER: condensation
3.
After changing their name from Chin Up, they signed with the Christian label Sparrow Records and released The Legend of Chin and New Way to Be Human. In 2007, they left Colombia Records and set up a new label, lowercase people Records, releasing the song ‘Rebuild.’ After the success of Learning to Breathe, their music appeared in the movie A Walk to Remember. In 2003, what band released their Colombia debut, The Beautiful Letdown, which includes their songs ‘Meant to Live’ and ‘Dare You to Move?’ 

ANSWER: Switchfoot
4.
The origin of this term comes from brief artillery bombardments in World War I meant to disrupt the enemy’s routine, but was adopted for literary use about 30 years later. During one of these, people such as Julia attack the screen, and by its end the viewers are chanting ‘B! B!’ Scenes include a machine-gun bearing Eastasian or Eurasian soldier advancing on the viewer and the advocacy of democracy by Emmanuel Goldstein, who then denounces Big Brother. What Oceanian daily ritual lasts for 120 seconds? 

ANSWER: Two Minutes Hate or Two Minute Hate
5.
One appears next to a swastika in a 2nd century AD building in Capernaum, and it supposedly appears on a tombstone at Taranto, Italy, from the 3rd century AD. In the 12th century, a reference to it was made in the Eshkol Ha-Kofer by Judah Hadassi. By the 17th century, they started appearing on the outside of synagogues, and it was chosen as the symbol of Zionism in 1897. What symbol consisting of two interlocking triangles appears on the Israeli flag and is a symbol of Judaism? 


ANSWER: Star of David or Magen David (MAH-ghen DAH-veed)

6.
During this poem’s middle, the poet proclaims that the title object is ‘Building, breaking, rebuilding.’ It also admits that problems exist: ‘They tell me you are wicked, and I believe them, for I have seen your painted women under the gas lamps luring the farm boys.’ Its end proclaims the title city is ‘proud to be … Player with Railroads and Freight Handler to the Nation.’ What poem by Carl Sandburg begins, ‘Hog Butcher for the World, / Tool Maker, Stacker of Wheat?’ 


ANSWER: “Chicago” (poem)

7.
She had eighteen children with George of Denmark, but only one lived past infancy, and that child only lived until his eleventh birthday.  She was the last monarch to withhold Royal Assent to a bill passed by Parliament, and was the first monarch of a newly-proclaimed Kingdom of Great Britain. Since she had no surviving children, rule passed from this last Stuart monarch to her second cousin, the Elector of Hannover, who became George I. What queen ruled England between 1702 and 1714? 

ANSWER: Queen Anne
8.
This company is led by brothers Rick and Tom Smith and manufactures an invention of Jack Cover. It company is now marketing the C2 to women as a self-defense weapon. In late 2007, one of its X-26 weapons belonging to Nicole Lynn Mallo was used on University of Florida student Andrew William Meyer. According to the ACLU, its weapons, when used by police, have killed 148 people since 1999. What company is the leading seller of electroshock guns? 

ANSWER: Taser International (do not accept ‘Tase’)
9.
Its name derives from the Greek for shield and it produces calcitonin, T3, and T4.  Medical problems associated with it include Plummer’s disease, Graves-Basedow disease, and goiter.  Name this large endocrine gland, commonly associated with iodine, found just below the Adam’s apple in the neck.

ANSWER: thyroid
10.
In British English, the red-eared slider is called one. A member of the Malaclemys genus, this type of turtle is found from Cape Cod to Corpus Christi and is known as a diamondback.  Usually found in brackish swamps, its shell is usually brown or gray.  Name this state reptile of Maryland.

ANSWER: terrapin
11.
William Blake was the Chosen Chief of the ‘Ancient Order’ of this group.  A center of study to become one was located on Anglesey Island off the coast of Wales; it took twenty years to learn all the necessary oral literature.  According to Caesar, they were not hereditary, believed in reincarnation, and were exempt from taxes and military service. John Aubrey, prominent in the 18th century ‘revival’ of this group, wrongly believed they built Stonehenge. What was this priestly class of Iron Age Celtic societies? 


ANSWER: druid(s)
12.
An alvar is a bed of this rock with little or no soil on top. One possible karst landform is a ‘pavement’ made from this rock. In the Niagara Escarpment, this rock sits atop a bed of shale. The Portland stone used in many London buildings is this type of rock. Stalagmites and stalactites are made of the same chemical compound as this rock, and tend to form in caves made from it. What sedimentary rock, used to make cement, is made out of calcite? 

ANSWER: limestone
13.
In 1936, he helped put down an attempted military coup, the February 26 Incident. His famous speeches, the Jewel Voice Broadcast and the Humanity Declaration, were given at noon local time on August 15, 1945, and on January 1, 1946, respectively. This son of Taisho (tie-SHOH) and Teimei (tay-MAY) reigned for 63 years, the longest of any historical emperor. Douglas MacArthur was instrumental in allowing him to continue ruling after World War II. Who ruled Japan between 1926 and 1989? 


ANSWER: Emperor Hirohito or Showa (Japanese emperors are known by their given names in life, but are given a “post-mortem” name on their death.)

14.
The gamma function evaluated at one-half is equal to its square root.  Archimedes used 96-sided polygons to approximate the value of this irrational and transcendental number.  Name this Greek letter that represents the ratio of a circle’s circumference to its diameter and is approximately 3.14159.

ANSWER: pi
15.
This line starts a speech that ends, ‘And enterprises of great pitch and moment / With this regard their currents turn awry, / And lose the name of action.’ The speech also contains the lines, ‘For in that sleep of death what dreams may come / When we have shuffled off this mortal coil.’ It doesn’t really start a soliloquy, as Ophelia is also onstage, and Claudius and Polonius are also present, but hidden. Delivered in Act III, Scene I of Hamlet is a speech beginning with what ten words?

ANSWER: “To be or not to be, that is the question”

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What does the B stand for in the animal disease BSE?

ANSWER: bovine
1B.
Who is the current Lieutenant Governor of Virginia? 


ANSWER: William T. ‘Bill’ Bolling
2A.
Once a week, TV and radio broadcasters must perform a Required Weekly Test of what system, which in 2005 was accidentally used to tell Connecticut residents to evacuate the state, immediately? 

ANSWER: Emergency Alert System or EAS
2B.
THIS IS A COMPUTATION QUESTION. How many months are in 17 decades?

ANSWER: 2040 months

3A.
What word, taken from Spanish and ultimately from the Coptic for ‘brick,’ refers to a sun-dried brick made from clay and straw, or a house made from that material?

ANSWER: adobe
3B.
The second-deepest lake in the United States is what lake astride the border between California and Nevada? 

ANSWER: Lake Tahoe
4A.
THIS IS A COMPUTATION QUESTION. In lowest terms, what is 3/8 times 2/9 times 3/4?

ANSWER: 1/16
4B.
The philosophy of Transcendentalism was laid out in what essay, published anonymously in 1836 by Ralph Waldo Emerson? 

ANSWER: Nature
5A.
Who directed the movies East of Eden, A Streetcar Named Desire, and On the Waterfront? 
ANSWER: Elia Kazan
5B.
Melanoma is the most serious type of what kind of cancer?

ANSWER: skin cancer

6A.
What type of conic section is x squared over 25 minus y squared over 169 = 1?

ANSWER: hyperbola
6B.
What common error occurs when a comma is used without a conjunction to join two independent clauses?
ANSWER: comma splice (do not accept run-on sentence)
7A.
Who is the thirty-year-old bank clerk that is arrested and executed for a nameless crime in Franz Kafka’s The Trial? 

ANSWER: Josef K. (prompt on “Josef”)

7B.
What type of solid lacks a regular three-dimensional arrangement of atoms or molecules?

ANSWER: amorphous
8A.
What Englishman, the director of the World Wide Web Consortium, invented the Web in 1989? 

ANSWER: Tim Berners-Lee
8B.
The fatted calf was slaughtered upon the return of what character that had spent his half of the inheritance in the Gospel of Luke? 

ANSWER: the Prodigal Son

9A.
Arpad and Istvan were two medieval rulers of what European country? 

ANSWER: Hungary
9B.
The Sprint Round, the Target Round, and the Countdown Round are all parts of what mathematics competition for middle schoolers? 

ANSWER: Mathcounts
10A.
A symbol resembling a number sign next to a note is what musical symbol that tells the musician to play the note a half-step higher in pitch? 

ANSWER: sharps

10B.
THIS IS A COMPUTATION QUESTION. Sine squared theta plus cosine squared theta equals what?

ANSWER: one
Third period, 15 toss-ups, 10 points each

1.
The damage caused by this scandal was resolved with the Treaty of Mortefontaine. The demand in this scandal was a loan of $12 million and a direct bribe of about $250,000 to three men. Otherwise, there would be no meeting with Foreign Minister Talleyrand. As a result of this scandal, the Quasi-War was fought between 1798 and 1800. What 1797 scandal involved Charles Pinckney, Elbridge Gerry, and John Marshall, three American representatives to France? 

ANSWER: XYZ Affair

2.
Reversed engineered from Security bulletin MS04-011, it worked by spreading though TCP port 445 without the user’s knowledge. Once it had spread, it caused a buffer overflow in the Local Security Authority Subsystem Service. Name this computer worm that affected Windows XP systems in April 2004.

ANSWER: Sasser

3.
She became the Senior Quidditch Correspondent for the Daily Prophet after playing for the Holyhead Harpies. The portrait of Phineas Nigellus reported that she was banned from Hogsmeade trips for leading a student mutiny. She started dating Michael Corner at the Yule Ball. When she broke up with Michael, she started dating Dean Thomas.  She outplayed Cho Chang in the Quidditch final, during which she replaced Harry as Seeker. Who eventually marries Harry Potter and is the sister of Ron Weasley? 


ANSWER: Ginevra or Ginny Weasley (do not accept or prompt on “Weasley” by itself)

4.
It started when Black Coyote, who was deaf, refused to give up his rifle unless until receiving a fair price. Medicine man Yellow Bird claimed to possess special shirts that would stop the white man’s bullets. Native leader Big Foot was suffering from pneumonia. It brought an end to the Ghost Dance movement and the Indian Wars, but was called a ‘massacre’ by Nelson Miles. Over 350 Lakota, the majority of whom were women and children, died during what event on December 29, 1890? 

ANSWER: Battle (or Massacre) of Wounded Knee (accept Wounded Knee Massacre)
5.
It was satirized by Roy Campbell in his 1931 poem The Georgiad. Much of its literary output was published through Hogarth Press. Although the ‘Old’ version disbanded during World War I, many of its members were also a part of the Memoir Club, which met until 1964. Members were mostly alumni of Trinity or King’s College at Cambridge, or were friends of people that were already members. People including E.M. Forster, John Maynard Keynes, and Virginia Woolf were members of what group? 


ANSWER: Bloomsbury Group

6.
It was initially awarded the 1974 Pulitzer Prize for fiction, but the rest of the Pulitzer panel overturned that decision, calling it ‘unreadable.’ The Schwarzgerät (SHVARTS-gheh-rat) features in this novel with four parts: Beyond the Zero, A Furlough at the Hermann Goering Casino, In the Zone, and The Counterforce. Tyrone Slothrop can predict where V-2 rockets fall in what Thomas Pyncheon novel?


ANSWER: Gravity’s Rainbow
7.
It was originally written in 1954 for television by Reginald Rose. A young man has allegedly murdered his father, and faces a mandatory death sentence. Characters include an architect, a bigoted garage owner, and an immigrant watchmaker; they are not called by their names, but are instead called number 8, number 10, and number 11, respectively. Some stage adaptations have been recast with women. What is this play about the deliberations of a jury?

ANSWER: 12 Angry Men
8.
Vitruvius credited him with sculpting the decorations at the Temple of Artemis at Ephesus; this is likely untrue. He had probably died by the time of Alexander the Great; otherwise, the actual life of this son of Cephisodotus (seh-fih-soh-DAW-tus) the Elder is shrouded in mystery. The Leconfield Head, Apollo Sauroktonos, and Hermes and the Infant Dionysus may, or may not be, his actual works. His Aphrodite of Cnidus was the first nude statue of a life-size female. Who was this 4th century BC Greek sculptor? 

ANSWER: Praxiteles (prak-sih-tuh-leez)

9.
Since there is no perfect insulator, no process is truly this type.  A close approximation to it is during the compression stroke of a diesel engine.  A reversible one is called isentropic.  Name this type of thermodynamic process that is the opposite of isothermal, is also known as isocaloric, and in which no heat is transferred to or from the working fluid.

ANSWER: adiabatic
10.
This dynasty’s King Yu had a nasty habit of amusing his concubine Baosi by lighting the fireworks intended to alert the nobility of invaders. So, after King Yu was killed, its ‘Eastern’ phase was divided into two chaotic eras, called the Spring and Autumn Period and the Warring States Period. What Chinese dynasty was finally overthrown by Qin (chin) Shi Huang, having ruled from 1122 to 256 BC? 

ANSWER: Chou (CHO) or Zhou (ZHO) Dynasty

11.
THIS IS A COMPUTATION QUESTION. Convert 627 into a Roman numeral, given that D equals 500, C equals 100, X equals 10, V equals 5, and I equals 1.

ANSWER: DCXXVII
12.
Most words in this language subfamily are formed from three-consonant stems, such as “k-t-b” for “write” or “written stuff” – different parts of speech are marked by different vowels. It is the easternmost branch of the Afro-Asiatic language family; languages in it include Amharic and Maltese. What language family includes Hebrew and Arabic? 

ANSWER: Semitic language family

13.
It is based on ‘The Idyll of Miss Sarah Brown,’ a short story by Damon Runyon. By its end, Sarah, who is part of the Save-A-Soul Mission, has married high rolling gambler Sky Masterson. A fourteen-year engagement is finally fulfilled as Adelaide marries Nathan Detroit. Containing the songs ‘A Bushel and a Peck’ and ‘Luck Be a Lady,’ what is this musical about gamblers and petty criminals?


ANSWER: Guys and Dolls
14.
In the mid-1990s, it was found to generate gamma rays in the earth’s atmosphere. It is preceded by ionized air known as a stepped leader. Volcanic eruptions and forest fires can cause it. Its positive variety can strike without warning. Other varieties include elves, sprites, rocket, dry, bead, and ball. What weather phenomenon heats nearby air to 18,000 degrees Fahrenheit, causing a sudden loud noise known as thunder? 


ANSWER: lightning
15.
Bodies of water that border this island include the Mona Passage and the Windward Passage. Its five mountain ranges include the Cordillera (kor-dee-YAY-rah) Central (sayn-TRAHL), which contains Pico Duarte, the highest point on this island. It is the second largest by land area of the islands in the Antilles. What island, once known as Santo Domingo, is split between the Dominican Republic and Haiti? 

ANSWER: Hispaniola (accept Santo Domingo before it is said)
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THE YEAR IS NOT NEEDED IN YOUR ANSWER. Before it struck, Isaac Cline, the Weather Bureau section chief, claims he went along the beach warning people about it. Two years after it, a seawall was built to protect the affected city. It is still the deadliest natural disaster in American history, killing 8,000 people, or 20% of the affected city’s population. Within two decades, the affected city had been overshadowed by Houston. What disaster struck the Texas coast on September 8, 1900? 


ANSWER: Galveston hurricane (accept similar words in place of ‘hurricane’)
2.
His roommate Lyman vanished on April 24, 1983. He has a brother, Doc Boy, who still lives on the farm. He was a cartoonist in the early 1980’s, but his job has been ignored since then – he apparently makes enough to feed his pet. His birthday is July 28, about six weeks after his pet cat’s birthday. In the summer of 2007, he began dating local veterinarian Liz Wilson. What character created by Jim Davis is the owner of Garfield? 
ANSWER: Jon Arbuckle

3.
It is a two-part reaction in which the number of ligands and electron pairs in both substances are affected.  Examples of them include carbon yielding carbon dioxide or sugar undergoing the electron transfer process.  Name this term whose name comes from the combination of reduction and oxidation.

ANSWER: redox (accept reduction-oxidation before they are said)
4.
This name’s origin is the Greek word for ‘healer.’ It is the name of a satellite that is a joint project between the American and French space agencies to measure the topography of the ocean’s surface. This variant of the name ‘Joshua’ appears in the first letters of the seventh through eleventh months of the year. What name is most familiar as the leader of the Argonauts? 


ANSWER: Jason
5.
THIS IS A COMPUTATION QUESTION. What is the height of a trapezoid of base lengths 10 feet and 18 feet and area 168 square feet, given that you can find the height by dividing the area by the average of the bases?

ANSWER: 12 feet
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

